

# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Nesources a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
April 28, 2023	Name of Event	Forestry Contractors Association AGM	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	190 kms.	\$ 109.63
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 109.63



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Nesources a	Ta Renewables	
(Month, Day, Year)	Subject (By Event)	Information	Cost
May, 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

	Department: Natural Resources a	iu Kellewables	
Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
June 15, 2023	Name of Event	Minizster's Advisory Committee Meeting	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	198 kms.	\$ 114.25
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures	Bridge tolls	\$ 1.25
		TOTAL PER EVENT	\$ 115.50



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Nesources a	Ta Renowables	
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 18, 2023	Name of Event	Site Visit - Meadowview Solar	
	Location of Event	Coldbrook, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	221 kms.	\$ 127.52
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 127.52



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Resources a	To remewables	
(Month, Day, Year)	Subject (By Event)	Information	Cost
August 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Nesources a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
September 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

	Department: Natural Resources a	IIU Kellewabies		
Dates By Event (Month, Day, Year)	Subject (By Event)	Information	C	ost
October 5, 2023	Name of Event	75th Anniversary Celebration Fleet and Forest Protection		
	Location of Event	Shubenacadie, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	124 kms.	\$	71.55
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	71.55



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department: Natural Nesources a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
November 15, 2023	Name of Event	Boston Tree Cutting Ceremony	
	Location of Event	Stewaicke, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	130 kms.	\$ 75.01
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 75.01



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Dogartmont: Natarar Noodar 300 a			
(Month, Day, Year)	Subject (By Event)	Information	(	Cost
November 28, 2023	Name of Event	Site visit - Fisherman's Cove		
	Location of Event	Eastern Passage, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	48 kms.	\$	27.70
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures	Bridge tolls	\$	2.50
		TOTAL PER EVENT	\$	30.20



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department: Natural Resources a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
November 30, 2023	Name of Event	Minister's Advisory Committee Meeting	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	189 kms.	\$ 109.05
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 109.05



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Dogartmont: Natara: Noodarood a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
December 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - <i>(\$0.5770)</i>		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Resources a		
(Month, Day, Year)	Subject (By Event)	Information	Cost
January 18, 2024	Name of Event	Site Visit - Urban Lighthouse Farm	
	Location of Event	Mount Uniacke, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	78 kms.	\$ 45.0
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 45.0



# **Province of Nova Scotia - Ministerial Summary of Expenses**

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Name: Shelly Boone, Special Advisor

Dates By Event	Department. Natural Resources a	TOTOWADIOO	
(Month, Day, Year)	Subject (By Event)	Information	Cost
February 2, 2024	Name of Event	Shubenacadie Sam - Groundhog Day Event	
	Location of Event	Shubenacadie, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	124 kms.	\$ 71.55
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 71.55